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1. Define each term, and give an example: (20pt)

(a) diastereomers
(e) formal charge

(b) meso compound
(f) Markovnikov’s rule

(c) epimer
(8) Snl

(d) pro-R

(h) E2 (i) keto-enol tautomerism (j) Hofmann elimination product

()
Q/OH PBrg
(e)

Q/CN (1) CHaMgl_

(2) H3O+

)

O_ CH,OH Na,Cr,05, H,SO,

Please explain endo rule for the Diels-Alder reaction. (10pt)

. Predict the products of the following reactions. (20 pt)

(b)
‘ (1) Hg(OAc)z, H,0

(2) NaBH,

(d)
MCPBA, CH,Cl,

8¢
oh

(1)NaNO,, HCI
(2) CuCl

(h)
(1) Sia,BH: THF
- HC=C=C~H 9y 1,0, NaOH
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4. Show how you would acoomplish the following syntheses. (20 pt)

(a) O O
(b) -
: NO,

5. Propose a mechanism for the following reaction. (10 pt)

O

CH;C-OH  + CH3CH;0H 250,

i
CH3C_OCH2CH3 + Hzo

6. Propose a mechanism for the following reaction. (10 pt)

OH Ph

Ph Ph Ph

ol EFAALE TEHEES L
2. ARMU TGN T EREMER -
S AANVEAGTEHATEMS  F2 s FHRXELEHRTE > AFHEZRTHE -




ERAH: 101 £3 59 AE 156
(101) - KRBpELHPAELRAEE

ARA* 3 R (ARARE 3 R)

#8  A#ILE AR bR ARBEET A
7. Determine the structure for the mass IR, "H NMR, and *C NMR and explain your
answer. (10pt)
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